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o[ st 30091 E-3n] o| 5} 30021 =1}
714 | 812,116 113 | 6,286 | 805,717 0.0 0.8 99.2
A 71,339 12 576 | 70,750 0.0 0.8 99.2
=% 120 0 120 0 0.0 100.0 0.0
| 58,607 56| 7,617 | 50,933 0.1 13.0 86.9
254 624,419 1,117 | 18,272 | 605,029 0.2 2.9 96.9
3tst | 104,820 0| 1,435| 103,386 0.0 1.4 98.6
e 34 0 34 0 0.0/ 100.0 0.0
M 117758 | 4,814 | 43,840 | 1,069,104 0.4 3.9 95.6
AH| 14,310 88 861 | 13,360 0.6 6.0 93.4
2R 47,270 139 | 4,923 | 42,208 0.3 10.4 89.3
sd 1,652 426 699 527 25.8 42.3 31.9
g4 | 1,093 88 | 1,004 0 8.1 91.9 0.0
Ny= 3,133 24 603 | 2,506 0.8 19.2 80.0
AR | 22,922 62 6,320 | 16,540 0.3 27.6 72.2
S8 | 287958 | 6,941 | 92,591 | 2,780,061 0.3 3.2 96.5
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EE2R

Has fryors 2t
2% 466 161 627
3% 388 137 525
4% 335 122 457
5% 300 111 411
6% 270 105 375
7% 250 97 347
8% 239 85 324
9% 230 77 307
(B V-7] JIa52Y B24 (5825 3%)
(2 - 70, %)
EE2ERR EHA
S8E T mas | m2s | A mesHE| 2AE

1A 145 25 5 30 98.1 1,333.3
Mk 15 15 0 15 100.0 -
=25 4 4 0 4 100.0 -
X7 144 40 10 50 93.2 147.9
HEENM 576 46 20 66 95.8 487.5
3}st 23 7 1 8 98.3 763.1
A 2 2 0 2 100.0 -
Far! 2,066 89 43 132 94.8 420.8
AH| 40 6 4 10 96.1 77.7
=4 114 33 8 41 94.9 128.1
SsH 207 51 28 79 85.0 3.9
off k4t 41 23 5 28 92.8 9.7
M 13 13 0 13 100.0 -
Xt 90 34 13 47 90.6 92.7

ESEHA 3,480 388 137 525
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(43678) = 1,20078 %

[ V-14] 2|8 EE12

(T2l - 7H)
HEd 2
ZEE 102" | 109~ | 1009~ | 3002% | E Hf 2
ojat | 1002ig | 300%¢ | E3}
717 145 14 31 9 39 93
At 15 3 6 2 4 15 | M4Z At
24 4 0 4 0 0 4| MeZ A
7| 144 10 35 22 22 89
NN 576 53 100 24 64 241
35 23 1 8 6 8 23 | M4 EA
2 2 0 2 0 0 2| MeEA
raps 2,066 91 131 29 117 368
M| 40 11 14 2 3 30
2 114 10 31 17 18 76
=8 207 130 18 0 1 149
of Q4 41 14 19 3 0 36
A 13 4 6 2 1 13 | M4z A
2 A} 90 7 24 23 7 61
S8 3,480 348 429 139 284 | 1,200
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- FEY 120070 4AE Aoz ME e od EaE FHske] 20139 =ARE 3 vl skl
[ V—-15] DHEY F2E 015 =7
(Sl @ 7H, 2R, %)
=YY 2
2HES | EES 1098 | 109~ | 300A¥ | 1098 | 1094~ | 30024" | 4 Hl 2
O[5t 30091 ¥ N - 0[5 300 & e -
1A 145 93 109 | 6,454 | 805,717 | 812,280 | —-3.8% 2.7% 0.0% 0.0%
Mt 15 15 12 576 | 70,750 | 71,339 0.0% 0.0% 0.0% 0.0% | M&ZA
24 4 4 0 120 0 120 0.0% 0.0% 0.0% 0.0% | M&ZA
®7| 144 89 61| 7,566| 50,933 | 58,561 8.3% | -0.7% 0.0%| —0.1%
HEEM 576 241 1,115 18,118 | 605,029 | 624,263 | —0.2% | —0.8% 0.0% 0.0%
3}t 23 23 0| 1,435| 103,386 | 104,820 0.0% 0.0% 0.0% 0.0% | ®&ZA
Z 2 2 0 34 0 34 0.0% 0.0% 0.0% 0.0% | M&ZA
A4 2,066 368 |  4,845| 44,111 | 1,069,104 | 1,118,060 0.7% 0.6% 0.0% 0.0%
ELI 40 30 83 867 | 13,360 | 14,311 | -56% 0.7% 0.0% 0.0%
& 114 76 145 | 4,874 | 42,208 | 47,227 4.0% | -1.0% 0.0%| —0.1%
=8 207 149 424 699 527 | 1,650 | —0.5% 0.0% 0.0%| —0.1%
S 4t 41 36 88 | 1,004 0] 1,093| -0.3% 0.0% 0.0% 0.0%
= 13 13 24 603 | 2,506 | 3,133 0.0% 0.0% 0.0% 0.0% | ®&ZA
2l X} 90 61 59| 6,331| 16,540 22,930 | -5.2% 0.2% 0.0% 0.0%
ZEA 3,480 | 1,200 6,966 | 92,793 | 2,780,061 | 2,879,820 |  0.4% 0.2% 0.0% 0.0%
1) @A @ (20138 ZAREL-FFZ)/2013H ZARE D




W A TR vE

— F=9 1,2007) JAE Loz wfEde gt B4E FA45e] 20139 2AFE 9} v w ekt
[ V—-16] SAIAI A2 OHEY FHF
(Che| @ Tl AR, %)
EHY 2%}
2EES | EE24 _ i _ _ _ ) H| 1
T T 509! o[3f|50-3009! 30091 X3} BAH | 509 0[5} 50-3009! (30091 X3 B =
717 145 93 | 112,221 9.274 | 690,785 | 812,280 0.1% 1T1% 0.0% 0.0%
At 15 15 | 46,884 130 | 24,325 | 71,339 0.0% 0.0% 0.0% 0.0% | M4 ZA
24 4 4 87 0 33 120 0.0% 0.0% 0.0% 0.0% | M4 ZAb
=7 144 89 | 34,676 6,998 | 16,887 | 58,561 0.4% | -2.6% 00% | -01%
HEEAN 576 241 | 165,146 | 15,044 | 443173 | 624,263 0.6% | —6.3% 0.0% 0.0%
5t3t 23 23 573 4,481 | 99,766 | 104,820 0.0% 0.0% 0.0% 0.0% | M4ZAb
STy 2 2 34 0 0 34 0.0% 0.0% 0.0% 0.0% | M4ZA
A 2,066 368 | 181,707 | 28,190 | 908,163 | 1,118,060 | —0.2% 2.5% 0.0% 0.0%
A | 40 30 845 1,741 | 11,725| 14311 -3.1% 1.6% 0.0% 0.0%
5 114 76 | 33,813 6,835 6,579 | 47,227 0.0% | —0.7% 00% | -01%
=2 207 149 1,604 46 0 1,650 | —0.1% 0.0% 00% | -01%
T2 41 36 668 424 0 1,093 0.0% 0.0% 0.0% 0.0%
A 13 13 367 91 2,675 3,133 0.0% 0.0% 0.0% 0.0% | M4ZAb
2| X} 90 61 6,132 3,085 | 13,713 22,930 08% | —1.2% 0.0% 0.0%
Z5H 3,480 1,200 | 584,758 | 77,239 | 2,217,823 | 2,879,820 01% | —0.7% 0.0% 0.0%
1) @K} @ (20133 ZAMFE I -FH™2Z)/20133 = AFZE 1}
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[E V-17] =2 NEHOIEY ) =T
(Ehl @ 7H, A9, %)
=Y 2"
2y | EES KpAH N Ry = JNINES PN N SRy = JNINES H[ 2
() () () (F) (¢) () (¢) (F)
717 145 93 | 879,277 | 387,265 | 492,012 | 83,132 0.0% 0.0% 0.0% 0.6%
ek 15 15| 64,129 | 21,276 | 42,853 3,863 0.0% 0.0% 0.0% 0.0% | ®4ZAb
L 4 4 118 92 26 479 0.0% 0.0% 0.0% 0.0% | ®4ZAb
&7 144 89| 22,067| 13,871 8,196 | 19,280 | -0.8% 0.2% | -2.6% 0.6%
HEEM 576 241 | 569,150 | 276,224 | 292,927 | 98,669 | -0.2% | -0.2%| -01%| —0.2%
3}5t 23 23| 57,433 21,568 | 35,865 11,800 0.0% 0.0% 0.0% 0.0% | ®4ZAb
o 2 2 30 24 7 36 0.0% 0.0% 0.0% 0.0% | ®M4ZAb
HA 2,066 368 | 1,226,831 | 519,987 | 706,844 | 127,005| -01%| -01% | -01%| -0.3%
M| 40 30 | 14,894 5,724 9,170 1,019 0.3% 0.7% 0.0% | —-0.5%
34 114 76 | 12,439 3,686 8,752 7,240 —2.0%| —-11%| -2.4% 0.5%
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e 3,480 1,200 | 2,868,415 | 1,261,623 | 1,606,792 | 370,849 | -0.1%| -0.1%| -0.1% 0.1%
1) QA @ (2013 ZAREI-FFE) /201340 =AE L}
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— 2AE 293170 Ao st dEFdTE X e g
(EEYEy 23
2= mEoal e )
B | =gt | BExEx | WMEAL | 9=
A 24 38.3 5.6 107.2 280.3 4.5
C 130 4,642.3 125.1 24,195.7 521.2 8.8
D 3 23,094.2 11,7247 24,083.9 104.3 1.7
E 27 419.2 136.2 701.5 167.4 2.3
F 489 2,305.4 31.0 13,027.9 565.1 8.4
G 40 1,264.8 56.8 5,760.9 455.5 5.8
H 13 6,069.9 2,227.0 9,195.0 151.5 2.2
J 79 6,652.5 124.3 26,059.7 391.7 5.6
K 2 55.8 55.8 11.6 20.8 0.0
L 14 5,729.5 60.0 13,516.1 235.9 2.5
M 2,047 143.0 12.0 3,206.7 2,241.9 44 4
N 49 372.1 40.6 1,449.6 389.6 6.5
0O 1 2,387.8 2,387.8 0.0 0.0 0.0
P 2 56.4 56.4 76.1 134.9 0.0
S 11 183.9 46.6 252.6 137.3 1.3
SHA 2,931 976.9 17.0 9,182.9 940.0 16.6
- WEe) e BES Awnw 300009 23 AAFI 0.5
o]=9 wjEFd HlFX AA| wWENY 96.8%= AA|ct= Ho=E
Lhebd
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KIH &Y A2 AFRAA S

HEH 2E HA ¢ H| = (%)
Hes 28 j0o@ [ 109~ [300%19 | 102® [ 109~ [ 3009
Olsf | 300H¥ | =1 o|sf | 3009 | =1}
A 24 16 7 1 66.7 29.2 4.2
C 130 8 82 40 6.2 63.1 30.8
D 3 0 0 0.0 0.0 100.0
E 27 1 19 3.7 70.4 25.9
F 489 116 295 78 23.7 60.3 16.0
G 40 4 28 8 10.0 70.0 20.0
H 13 0 3 10 0.0 23.1 76.9
J 79 10 38 31 12.7 48 .1 39.2
K 2 0 2 0 0.0 100.0 0.0
L 14 4 4 6 28.6 28.6 42.9
M 2047 914 1049 84 447 51.2 41
N 49 10 32 7 20.4 65.3 14.3
O 1 0 0 1 0.0 0.0 100.0
P 2 1 1 0 50.0 50.0 0.0
S 11 0 8 3 0.0 72.7 27.3
A 2,931 1,084 1,568 279 37.0 53.5 9.5
K EY AZE OjEH Z2)
) HEH A2E SN H| = (%)
HEF | HESH [qoode [ 102~ [ 300219 | 10212 | 102~ | 3002
Ols} | 300&¥ | =1 olst | 3009 | =1}
A 918 59 333 527 6.4 36.3 57.4
C 603,498 37 8,048 | 595,412 0.0 1.3 98.7
D 69,282 0 0 69,282 0.0 0.0 100.0
E 11,317 9 1,729 9,578 0.1 15.3 84.6
F 1,127,360 582 19,336 | 1,107,443 0.1 1.7 98.2
G 50,592 26 2,136 48,429 0.1 4.2 95.7
H 78,909 0 171 78,737 0.0 0.2 99.8
J 525,549 43 3,040 | 522,466 0.0 0.6 99.4
K 112 0 112 0 0.0 100.0 0.0
L 80,212 19 152 80,041 0.0 0.2 99.8
M 292,789 4,717 48,865 | 239,208 1.6 16.7 81.7
N 18,234 45 2,432 15,757 0.2 13.3 86.4
O 2,388 0 0 2,388 0.0 0.0 100.0
P 113 3 110 0 2.7 97.3 0.0
S 2,023 0 308 1,715 0.0 15.2 84.8
A 2,863,296 5,540 86,772 | 2,770,984 0.2 3.0 96.8
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LAY EEAR
(E25UHESE EE24- 322X 3%)>
ST _ BeEdZE _#
2 | mzz | mE=  mEgo FAZHE EAR
A 24 o4 0 24 100.0 =
c 130 17 8 %5 96.5 | 2.386.3
D 3 3 0 3 100.0 -
E o7 57 0 57 100.0 -
F 489 15 13 58 96.7 944 .4
G 40 10 4 14 96.7 210.4
H 13 13 0 13 100.0 -
J 79 18 5 23 977 | 1.734.7
K > > 0 > 100.0 -
L 14 14 0 14 100.0 -
M 5047 172 94 566 87.0 126.3
N 19 16 5 21 95.5 109.8
0 1 1 0 1 100.0 .
p > > 0 > 100.0 -
S 11 11 0 11 100.0 -
BZ 5931 375 129 504
5. 2% H|2
- ERAQER NFOR REAA F olE0g EpEEs 37
st Ayl 30099 vrto A wjE Ao thst @ x}rt A YERE
&N =T 2| QA H[ W)
x| C o 2tV
=8 | EE Jooia ofat [1091~300202 | 30091 X} 7
45 49 57.4% —58.4% 2.0% T.5%
15 5 —100.0% ~35.8% ~0.6% ~0.9%
4 0 0.0% | —100.0% 0.0% | —100.0%
VY 136.8% 29.1% 1% 3.0%
576 74 —15.5% ~20.3% 1% ~17%
23 13 0.0% 38.6% 0.0% Z0.5%
> 1 0.0% ~56.7% 0.0% ~56.7%
2066 241 ~20.2% 20.6% ~1.0% —0.2%
40 5 80.4% 17.5% ~6.0% —41%
4 32 —18.6% ~19.2% “8.1% ~9.3%
207 28  —77.0% ~26.7% 0.0% —31.0%
Iy 1 =100.0% ~84.9% 0.0% ~86.1%
13 4 2100.0% ~35.2% 0.0% —7.5%
o0 28  —100.0% ~31.6% 0.0% ~9.0%
3.480 504 —21.3% 1% ~0.2% ~0.3%

(2013 Z=AEL-FFE)/2013H ZAHE L
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KHE2> TEAHA =27 (SAS PGM)

/****************************l }__/\]—E@%*********************************/

data POP;
set P.ENG_POP;

if ENG _UPJONG="7]7|" then UPJONG=1

else if ENG UPJONG="/14}" then UPJONG=2
else if ENG UPJONG="+<" then UPJONG=3
else if ENG UPJONG="#7]" then UPJONG=4
else if ENG UPJONG="" X &4l" then UPJONG=5
else if ENG UPJONG="3%}3}" then UPJONG=6
else if ENG UPJONG=""3%" then UPJONG=7
else if ENG UPJONG="714" then UPJONG=8
else if ENG UPJONG="H|" then UPJONG=9
else if ENG UPJONG="%F4" then UPJONG=10
else if ENG UPJONG="%¥" then UPJONG=11
else if ENG UPJONG="3]| 54" then UPJONG=12
else if ENG UPJONG="4F{]" then UPJONG=13
else if ENG UPJONG="9¥A#" then UPJONG=14

y=machul/100*v}&] T H Sk (e~ ¢ ;

if y =< 10 then machuléd=1

else if y =< 100 then machul4=2
else if y =< 300 then machuld=3
else if y > 300 then machuld=4

if y =< 10 then machul3=1
else if y =< 300 then machul3=2
else if y > 300 then machul3=3

if mem < 50 then mem3=1
else if mem < 300 then mem3=2
else if mem >= 300 then mem3=3

stratakey=UPJONG*100+machuld;

label

ENG_NO="AF}A] A&z

ENG SAUPNAME="A}$] A"
SAUPNO="A}HY s HH o

ENG DATE=""5- Y Z}"
ENG_MEM="<lA|Ho]g 7]&=len
ENG_UPJONG="%]&"
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machul="uj] &

san2="2FJEF/ (5) "
san3="2FJqEF (&) "
san4="AFA&F (M) "

Survey="ZA}o] Fn

machul type=""]Z&75 (3)"
mem_type="EAFATE (3) "
giup_type="7]H4FE"
asset="ARk"
asset_a="-r& A"
capital="A}&"
debt="+-3"

debt a="-f&HA"
profit="% o]
jusol="T41"
juso2="T42"
tel=AShH 5
fax="9~HI"

y="m= ()"
machuld="vlZE7F % (4) "

run

title 'Tablel-FAIRFG-ALG A, &,
proc tabulate data=POP;

class UPJONG machuld;

var y;

table UPJONG all, n y;

run

title 'Table2-FALE A HA4 (mjEd)

proc sort data= POP;by UPJONG; run

proc means data=POP n sum mean median stddev cv skewness

var y;

run

proc means data=POP n sum mean median stddev cv skewness noprint
var y;

by UPJONG;

output out=outstat 1 n=n sum=sum mean=mean median=median stddev=stddev cv=cv
skewness=skewness

run

proc print data=outstat 1;run

L
12

title 'Table3-FAEHAT-A A4,
proc tabulate data=POP;
class UPJONG machul3;

var y;



table UPJONG all, (n y)*(machul3 all);

run

/*30700eE JF HgEAb/

data POP_JUNSU POP_SAMPLE;

set POP;

if ENG_UPJONG IN: ("gi", "w&r, "akqlr, nidwpr, v3}8t) then output POP_JUNSU;
* A FZAY;

else output POP_SAMPLE; *3E4-5A};

run

data POP_JUNSU;set POP_JUNSU;

sample case2=2

run

/***************************2 %*%‘Xé/\]'****************************/
©. 9z =2
/*SBAAH

%macro cut point (upjong,n,dataset);

data aa(keep=y UPJONG) ;set POP SAMPLE;
if UPJONG=&upjong. then output;

run;

proc sort data=aa;by descending y;run;
proc means data=aa n mean sum cv skewness;
var y;

output out=outstat sum=sum y;

run;

data a0l;merge aa outstat;
drop type freq sum y;
obs=n ;

if lag(y)=. then cum y=y;
else cum y+y;
sum_y2+sum_y;
p=cum_y/sum_y2*100

run;,

data &dataset;set null ;run;
%do 1i=1 %to &n;

data a02;merge all;

if obs=&i;

run;

proc means data=a0l noprint;
var y;
output out=statl n=pop n sum=pop sum stddev=pop sigma;

where obs>&i;
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run;

data a03;merge al02 statl;

drop type freq ;

if obs=&i;

e=0.03

cv=pop n*pop sigma/pop sum;

g=pop_sum/sum_y2;

z=1.96

ns=(((z*g*cv) **2) / (e**2)) / (1l+ ((z*g*cv) **2) / (pop_n* (e**2)));

run;

data &dataset;set &dataset al3;
run;

%end

data &dataset;set &dataset;
n_total=ns+obs;

run;,

gmend cut point;
%cut_point(1l,145,D1)
$cut_point(4,144,D4)
$cut_point(5,576,D5)
$cut_point(8,2066,D8)
9,40,D9)
$cut_point(10,114,D10)
$cut_point(11,207,D11)
$cut_point(12,41,D12)
$cut_point(14,90,D14)

(
(
(
$cut_point(
(
(
(
(

data Cut data;
set D1 D4 D5 D8 D9 D10 D11 D12 D14;

run

proc sql

create table Cut datal as

select *, min(n total) as min n total
from Cut data

group by UPJONG

having n total=calculated min n total;

title 'Tabled--o-84AYH A}
proc print data=Cut datal label
var UPJONG obs ns min n total y p;

label UPJONG="YHF" obs="ZFF" ns="3E3" min n total="3E fE" y="dAH (ujEd) "

p="A5S v Eu]F

run
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/**************************3,—3—@‘@71]********************************/
/*E A/

data POP SAMPLE;

set POP SAMPLE;

sample case2=1

if UPJONG=1 and y > 300 then sample case2=2

else if UPJONG=4 and y > 100 then sample case2=2
else if UPJONG=5 and y > 300 then sample case2=2
else if UPJONG=8 and y > 300 then sample case2=2
else if UPJONG=9 and y > 100 then sample case2=2
else if UPJONG=10 and y > 100 then sample case2=2
else if UPJONG=11l and y > 10 then sample case2=2
else if UPJONG=12 and y > 10 then sample case2=2
else if UPJONG=14 and y > 100 then sample case2=2
if mem3 =3 then sample case2=2

run

title 'Table5-AAH &

proc tabulate data=POP SAMPLE;

class UPJONG sample caseZ2;

var y;

table (UPJONG all='3%HAl' ), (n y) * (sample case2 all);

run

data POP_SAMPLEl POP JUNSUL;

set POP_SAMPLE;

if sample case2=1 then output POP_SAMPLEL; * 3 {-FAF- 3145
else output POP_JUNSUL; *E4-ZAM-4 55

run

N

title 'Table6-HE, TR B3 A7]

proc tabulate data=POP SAMPLEIL;

class UPJONG machul4;

table (UPJONG all='¥7' ), (machuld all="A' );

run

proc sort data=POP_ SAMPLELl;by UPJONG machulé4;run
proc means data=POP_SAMPLEl noprint

var y;

by UPJONG machul4;

output out=m sum=sum std=std min=min max=max

run

data m;
set m;
drop type ;

run
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data ml;
set m;
if std=. then std=0

run

proc sql
create table m2 as
select UPJONG ,
machul4,
_freq as Nh,
sum as Xh,
std as SIGMA Xh

from ml;

proc sort data=m2;by UPJONG y;run

$macro sn(cvl,cv2,cv3);

data m3;

set m2;

cvh=sigma xh/ (xh/nh);

if UPJONG IN: (11) then snh=(cvh/&cvl.)**2 / (1+ 1/nh* (cvh/&cvl.)**2);
else if UPJONG IN: (5,8) then snh=(cvh/&cv2.)**2 / (14 1/nh* (cvh/&cv2.)**2);
else snh=(cvh/&cv3.)**2 / (1+ 1/nh* (cvh/&cv3.)**2);

run;

$mend sn;

%sn(0.04,0.054,0.08) ;

data m3;set m3;

sample=round (snh) ;

if sample < 3 then sample=3

if sample > 130 then sample=sample-2
if sample >= nh then sample=nh;

run

title 'Table7-¥ &3S HE F7]

proc tabulate data=m3;

class UPJONG machul4;

var sample;

table (UPJONG all='%lAl' ), (machuld all="g7A' )*sample;

run

data samplesize;set POP JUNSU POP JUNSULl m3;
if sample=. then sample=1

run
title 'Table8-Y =&, F2H H=E xR 77)°

proc tabulate data=samplesize;
class UPJONG machuld;
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var sample;
table (UPJONG all='%lAl' ), (machuld all="g7A' )*sample;

run

JHEKK KKK KKK KKK KKK KKK KKK KKK KX ) Elﬁ__f,&%******************************/
. =

proc sort data=POP_ SAMPLELl;by stratakey y; run

data samplecount;

set m3;
stratakey=UPJONG*100+machuld;
_nsize =sample;

if sample=0 then delete

keep stratakey nsize ;

run

/%2013 FARE I}/

proc sort data=POP_ SAMPLELl;by UPJONG machul4 y; run
proc means data=POP_SAMPLEl noprint ;var y asset asset a capital debt debt a mem;
output out=pop R sum=y asset asset a capital debt debt a mem;by UPJONG; run

/*EE] A *+/

$macro sample (seed,varl,var?2);

proc surveyselect data=POP_SAMPLEl method=sys seed=&seed. N=samplecount
out=sample &seed. noprint ;

strata stratakey ;

run;,

proc means data=sample &seed. noprint ;var y asset asset a capital debt debt a
mem;

output out=m &seed. sum=S y S asset S asset a S capital S debt S debt a S mem;
by UPJONG;

weight SamplingWeight;

run;,

data m é&seed;;merge m &seed pop R;by UPJONG;
M y=abs (S y/y-1);

M asset=abs (S_asset/asset-1);

M capital=abs (S capital/capital-1);

M debt=abs (S debt/debt-1);

M mem=abs (S_mem/mem-1) ;

run;,

proc means data=m &seed. noprint ;var M y M asset M capital M debt M mem;

output out=mm &seed. sum=y asset capital debt mem;run;
data mm_é&seed;;set mm é&seed;seed number=&seed.run;

$mend sample;
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$sample (277) ;

/*************************************************************/

%macro rep

%do 1=2 %to 1000 =3by 1

$sample (&1) ;

data mm 1;

set mm 1 mm &i.

run,

send

%mend

srep

proc sort data=mm 1;by y;rundata mm 1;set mm 1;rankl= n ;run
proc sort data=mm 1l;by asset;rundata mm 1;set mm 1;rank2= n ;run
proc sort data=mm 1;by capital;rundata mm 1;set mm 1;rank3= n ;run
proc sort data=mm 1l;by debt;rundata mm 1;set mm 1;rank4= n ;run

proc sort data=mm 1l;by mem;rundata mm 1;set mm 1;rank5= n ;run

data mm 1;set mm 1;total rank=rankl+rank2*0.4+rank3*0.3+rank4*0.3+rank5;run
proc sort data=mm 1;by total rank;run

proc print data=mm 1;run

/*xKkxkxkgaed Hdi @}Xg :6,;************/
data sample final;

set sample 277 POP JUNSU POP JUNSUL;

if sample case2=2 then SamplingWeight=1

run

title 'Table9-2013d FAA I}

proc tabulate data=pop;

class UPJONG machul3 mem3;

var y asset capital debt mem;

table UPJONG all,y* (machul3 mem3 all) ( asset capital debt mem);

run

title 'TablelO-F3 A3}

proc tabulate data=sample final;

class UPJONG machul3 mem3;

var y asset capital debt mem;

table UPJONG all, y*(machul3 mem3 all) ( asset capital debt mem);
weight SamplingWeight;

run

title 'Tablell-HEAIGA &

proc sort data=sample final;by UPJONG machul4 y; run

proc print data=sample final;

var ENG NO sample case2 ENG_ SAUPNAME ENG UPJONG UPJONG machul4 SamplingWeight

;yrun
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